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Note : 1. Ans i
: 1. Answers written only in BLUE or BLACK Shoulg g o
2. In Part - | the correct answer should have been writt:r? lx,ﬁ:]edﬁ [
3. If one of them (option or answer) is WON: then awag 50 rtnaerlt()Ft))tr'ﬁ)r/1 eode:

ISTRY . ENGLISH MEDIUM

Section - | he Questio
Answer all the s Maximum Marks - 70
[ (AT 1 15x1=15
ype) s
Q. | Opt [ Answer Q. o\ang(“%;r ype)
No | ion No | ion
Statements (I) and (II) are
1 a |A(2) B(4) C(1) D(3) 1 | p |correctand Statement (lI) is
the correct explanation of
statement (1)
Statements (I) and (Il) are
correct and Statement (Il)
‘ P is the correct explanation 2| a |NOx
of statement (1)
3 b | Olefins 3 | d |Both(a)and (c)
4 | a o5 4| b .1%
5 a | Kjeldahl method 5| a |05
6 b |[NH; 6 | b [O*F
7 b |[rate 7 | b |(l)and(Il)
8 | b [O°,F 8 | ¢ [Nucleophile
9 ¢ | Nucleophile 9 | b |NH;
10| b ;13 10| b |olefins
11 | a [ NO+ 11| a |A(2)B(4) C(1) DB)
12 | b | Potassium sulphate 12| b |rate
13 | d_| Face centred cubic laftice | | 13 | b | Potassium suiphate__
14 | b | ()and (Il) 14 | d Fgce centred cubic lattice
15 | d_|Both (a) and () 45| a_| Kjeldahl method
Answer any Six Questions and Question No.18 is Compulsory
SECTION i gassia
16 | Gravity Separation 1
Suitable for oxide ore (or) haematite (or) tin stone 1 2
powdered ore is washed by a current of water PEY
17 | Uses of D0 141 2
Any two uses
T8 | Barium gives apple green colour in flame t€st | 4 o
The electrons get energy and excited to high€' eqer_g{] Iﬁ;\?i:g 1
They emit the absorbed energy in the form of radialio
particular wavelength —




19

Hybridisation
Correct definition

20

First law of thermod i
n
Correct statement ynamics

21

Eg:xilitfn;ium concen!rations remain constant
e of forward reaction is eqa| to the rate of backward

22

Irgactipp (o!') dynamic equilibriym (or) Ri= R

Etﬁntnfuc:jatlon ethane and ethylene with alkaline KMnO,
ane does not decolourise alkaline KMnOs

Ethylene decolourises alkaline KMnO

23

All six carbon and hydr i
S 0
uatan ydrogen atoms in benzene are

Formation of a single mon ; ; ;
- : o0 substituted product with bromine
Three di-substituted isomers with bromir?e.

24

Benzyl chloride from toluene
Correct equation
(or)
Equation without light (or) r9
(or)

Mere explanation

1%

SECTION 1il

Answer any Six Questions and Question No.27 is compulsory

6x3=18

25

6.66

865 1

C 80 % 20 _6.66 -
12 6.66

2 _30
6.66

H 20 % z—1"=2o

Empirical formula CHs

26

Calcination
Correct Explanation

Any one example

27

29

30

28

The order of increasing atomic volume
a) Li<Na<K

b) N<O<C

c) Ca<Sr<Ba
Correct Diagram for
(100) plane
(010) plane

(001) plane

Significances of vanderwaal’s constants

Three Significances
Geometry of SO
Diagram

(or)

Bent Shape
3 electron pairs on sulphur atom

Duetolp—Ipre ulsion



]

—

33

Distillation of coal tar

F_ractional distillation

quuiqS with boiling point
ractuonating column

Close to each Other
Deﬁnition

32 Action of Ozone on acetylene
Correct Equation _

(or)
Equation Wwithout intermediate
(or)

Naptha obtained from petroleum
Fractional distillation

assed over platinum Supported on alumina catalyst
(or)
From coal

Coal heated to 1000° C in the absence of air

SECTION Iv

Correct explanation SE—
Commerciaj Preparation of benzene

Answer all the questions

34

Bohr’s theory

4 postulates
(or)
3 postulates
(or)
2 postulates
(or)
1 postulate o
Ortho and para hydrogen
Ortho hydrogen
Para hydrogen
Diagram

NN

35

(i)Boran acts as a powerful reducing agent
Correct Equation

ol lanation
Correct Explanati
(i) Boran from borax
Correct Equation

(on
Correct Explanation

or)
Berkfey — Hartley method
Diagramt_ ]
Explanatio .
Adeantages (3 points)




36 | Relationship between AU ang AH

AH = (H-Hy) = (Uz-Uy) + P(v,..
AH =AU + PAV (Vzv,)

PV,- = n,RT

PVp=n,RT 1
PAV =AngRT 1
AH = AU+AngRT 1

o (or)

T H21002] 5
Kc=(0.4)2/0.8x1.3 .
Kc = 0.1538 = Kp "

. (or) >
Ke =4x" / (a-x) (b-x) o
=4 (0.4)° / (2-0.4) (3-0.4) )
Kc=0.1538 = Kp
37 | (i) Photochemical reactions follow zero order kinetics
Rate is independent of concentration of reactant 2
or
Rate =K[A]° o6
(i) Three differences between order and molecularity
Any three differences 3x1
(or)
(i) Characteristics of homologous series
Characteristics - 1,3,4,5 (1 mark) 6™ point (1 Mark) 2
(ii) C,H2, - Alkenes (or) olefins 114
C.Hs.no - Alkynes (or) acetylenes 114
38 | (i)Estimation of Oxygen
The percentage of all other elements are added together and
then subtracted from 100 2
(ii)Estimation of Sulphur by Carius method
Diagram s i
Explanation 22 " i
% of Sulphur = —— X W‘x 100
(or) 1
32 Weight of BaSo
% of Sulphur = — X Weigm;f presoprar Cm:pound x 100
(or
Mechanism of hydrolysis of tertiary butyl bromide
SN' Mechanism 1
Step 1 : Correct equation 2
(or)
Mere explanation 1
Step 2 : Correct equation 2
(or)
Mere explanation 1
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